XXXHXXXKXXKXXXKX=, KXXXXXXXXXXX=, KXXXXXXXXXXXX (XXX) | XxxXxx XXXXXXXX

X00000OXXXXXXXXX. XXXz XDOO0XXXXX XXX XXXXXXX x00.00

1.  X0000OXXXX

XXX XXXXXXXKXXKXXK=, XXXXXXXXXXXXK=, XXXXXXXKXXKXX (XXX) XXX XXXK XXXXXKXK XXXXKXXXKXXK XXX
XXXXXXKXXXKX KXXXXKXK XXX XXXXXXXXXK XXX XHXXXKXXKXXXXXKXXXXXX XXXX § 00 XXX, XX XXX XXX XXXXXXXX
XXXXXXXXXKXXXX XXX XK= XXX KXXKXXXXKXXXXXKXXX XX XXX KXXXXXXXXXX.

XXXXXX XXXXXX XXXX XXXXXXXXXXXX XXXXXXXXXXXXXX, XXX XXX XXXXXXXXX KXXXXX XXXXXXX XXXXXX XXXX:

1. XXXXX XXXXXXXXX XXX XXXXXXX XXX XXX XXXXXXXXXXXXXXXXXXX XX XXX XX-XXXXXXXX
XXXXXX XX XXX XXXXXXXXXXX XXXXXX KXXXXXXKXXXXXXXXXKX XXXXXXXXXX. 0,0 XXXXXXX XXXXXX
XXXXXXX XXXXXXXXXXX.

2. XXX XXX XXXXXXXXXXX XXX XXXXXXXXXXXX XXX XXXXXXXXXXXXXXXXXXXXXXXXXX XXXX XXX XXX
XXX XXXXX XXX XXXXX XXXXXXXXXXKX KXXXXXX XXXX XXX XXXXXXX XXXX XXXXXXXXX XXXXXXXXX
XXXXXXX XXX XXXXXXXKXXXXX XXXXXXXX XXXXXX.

3. XXXXXXXXXXXX XXX XXXXXXXXXXX XXXXXXXXXXXXXXXXXXXXXXXXXXX (KXXXXXXXXKXXXKXXKXXX,
XXXKXX=-XXXXXXKXXXKX KXKXXXKXX) XXXXX KXXXXXXXXK XXX XXXXX KXXXKXX XXXX XXXXXXXXKXXXXK, XX
XXXXXXXX XXXXXXXXXKX XXXXXKXXXXX XX XXXXXXK, XXX XXXX XX XXX XXXXXXXXXXX XXXXXX XXXXX XX
XXXXXXXXXXXXKXXX XXXX KXXXXXXKXXKXX XXXXKXXXX XXXXXX.

2. XDO00000OXXX XX XXX

XX XXXXXX XXXXX XXX, XXXX XXX XXXXXXXXXXXX XXX XXXXXXX O XX-Xxxxxxx (0 Xxxxxxx XX-X X 00 xxx 0
XXXXXX XX-X X 00) XXXXX XXX XXX XXX XXXXXXXXX XXXXXXX XXXXXXXXXXXXXX XXxX 000.000 Xxxx
XXXXXXXX XXXX 000.000 XXXX XXXXXXXXXX XXXXXX XXXXXX XXXXX XXX KXXXXXXXXXX XXX XXXXXXX.
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3. XXXXXXXXXXXXXXXXXXXX XXX XXXXXXXXXXXX XXXXXXXXXXXXX

XXX XX XXX XXXXXXXXXXK XXXXXXXXKXXXXX XXXXKXXXXX XXXXXXX XXXXXXXXX XXXXX XXX, XXX XXXXXXXXXXXXXX

XXX XXX XX-XXXXXXXK XX XXXXXK. XXX XXXXXXXXXXKXXX XXXXXXXXXK XXXXXX XHXXXXXXXXXX KXXXXXXX

XXXXXXXXXXXXXX XXXXXXK, XX XXX XX-XXXXXXX XXXXXXXXXXX XXX XXXXXK XXXXXXXXX XX XXXXXX. XXXXX

XXXXXXXXX XXX XXX XXX XX XXXXXXXXX XXXXXXXXXXXX XXXXXXX XXX XXXXXXXXXXX XXX. XX

XXXXXXXXXXXX XXXXXXX.

XXXXXXX | XXXXXXXXX XXXXXX XXXXXXXXXXXX
XXX XXXX XXX XXXX
1. XXXXXXXXXXXXXXXXXXXK XXX =XXXXXXXXX 0,0 0,0 XXXXXXXXX, XXXXXXXXX,
0. XXXXXXXXXXX XXXXXXXXXXXX
2. XXXX XXXXXXXXXXX XXXXXXXXX 0,0 0,0 XXXXXXXXXXXXXXX XXXXXXXXX,
(xXxXXX) XXXXXXX XXXXXXXXXXXX
3. XXXXXXXXXXXXXXXXX 00,0 0,0 XXXXXXX - XXXXXXXXX,
(XXXXXXXXXKXXXKXXXXK, XXX, XXXXXXXXXXXXXXXX XXXXXXXxxxxx: 0,0
XXXXXXXXXXXXXXX, = XXX-XXXXXXXXXXXX:
XXXXXXXXXXXXXXKXX XX X.) XXXX. 0,0
XXXXXXXXXXXXXXXXXX
4. XXXXXXX [ XXXXX 0,0 0,0 XXX XXX
5. XXXXXXXXXXXXXXXXXXXXXXXX / 0,0 0,0 XXX XXX
XXXXXXXXXXXXX
6. XXXXXXXXXXXX: XXX, XXXXXXXXXXX, 0 0,0 0,0 XXX XXX
XXXXXX XXXXXXXXX X.X. 0,0 XXXXXXXXXX
7. XXXXXXXXXXXXX: XXXX 0,0 0,0 XXX XXX
8. XXXXXXXXXXXXX: 0 0,0 XXXXXXXXXX 2?7 XXXXXXXXXXXX
XXXXXXXXKXXXKXXXKXXXXXXXXK, XXXXXXXX XXXXXX [ XXXXXXX?
9. XXXXXXXXXXXXX: 0 0,0 XXXXXXXXXX XXX
XXXHXXXHKXXXXXXXXXXXXK (XX, XXXXXXX)
10, XXXXXXXXXXXXXXXXX 0 0,0 XXXXXXXXXX 2?7 XXXXXXXXXXXX
XXXXXX [ XXXXXXX?
XXXXX 00,0 00,0
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3.1, 00000 XXX =XXXXXXXXX

XXXXXX:

XX XXXXXX XXX XXXXXXXXXXXXXXXXXXX (0. XXXXXXXXXXX) XXXXXX XXXXXXXX XXXXXXX XX Xxxxxx xxx 0,0 (0

Xxxxxxx XX-X X00 xxx 0 Xxxxxx XX-X X00) XXXXXXXXX XXX XXXXXXXXX XXX XXXXXXXX XXXXXXXX:
KXXXXXXXXXXXX XXXXX:

Vo XXXXXXXKXXXK XXX KXXKKXXXK, KXXXXXKXXXK, XXXXXXXKXXXKKXX (KHXXXXKXXXXKXXXXKXXXX! ),
XXXXXXXXXXKXK, KXXXKXXXXXXXXKX ... = XXX XXXXXXXX XXX XXX XXXXXXX
V' XXXXXXXX XXXKXXX, XXXXXXXX XXXXXXX (X XX XXXXXX XXXX)

XXXXRXRXXXXXK XXX KXXXXXKXXXXXXXKKXKX:

v XXX XXX XXXXXXXXXXXXXXXXXKK
XXXKRXXRXRXXXXXXKXKKKXK [ KXXXKXXKXXKXXX

v XXX XXX (XXXXXX) KXXXXXXXX

XXXXXXK XXXXXX XXX XXXXKX , KXXXXXXXXXXXXKXKX XXX KXXXXXXXXKXXXXXXKXK XXKXX
KXXXXXXXXXXXKXXXXXXXKXXKXXKXXX XXXXXXXXXK XXX XXXKXXX XXXXXXXXXXK XXXXXXXXKXXKXXX XXXXXX. XXX XXX
XXXXXXX XXXXXX XXX XXXXXX XXXXXXXXXXXXXKXXXXXXXK XXXX . KXXXXXXXXXXKXXXXXXXXX XXX XXXXXX XXX
XXXXXXXXXXX XXXXX XX XXXXXKXXX XXXKXKXK. KXXXXK XXXXXXKXXXXXXKX XXX XXXXKXXXXXX/XXXKXXXXXX
KXXXXXXXXX XXXXXX XX XXXXXK XXXXXXXXXXKXXXXXXXXK XXXXXXKXXK XXXXXXXXKXXXXXXX XXXXXXXXX XXXXXX
XXXXXX, XX XXX XXXXXXXXXX XX XXXXXXXXKXXK XXXXXXXXXXXXXXXKXXXXXXXXXKXXKXXKX XXXXXX XX XXX.

XXXXXXXXXXXXX:
XX XXXXXXXXXXXX XXXX XXXXXXXXXXX — XXXXXXXXXXXXX  XXXXXXXXXXXXXX/X
X XXX X X X
XXXX

0,0  XXXXXXXXXXXXXXXXxX 0,0 XXXXXXXXX, X 00 0,0 X. XXXXXXXXX

X XXXXXXXXXXXX 0,0 X. Xxxxx

0. XXXXXXXXXXX 0,0 X. XXXXXXX

N XXXXXXXXXX 0,0 X. XXXXXXXX

X 0,0 X. XXXXXXXXX

00.00.0000
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3.2, Xoaxx XX xxxx Xxxxxxxxx (xxXXX)

XXXXXX:

XXX XXX XXXXXXXX XXX XXX XXXXXXXXXXXK XXX XXXXKX XXX XXXXXK XXXKXXXKXXXXX XXXXXKXXXKXXXXK
XXXXXXXXX XXX XXXX XX XXXXKX XXXXXXXXXXKXXK XX XXXXXXKXKXK KXXX XXXXXKXKXK. KXXXXXXXX XX XXX
XXXXXXKXXXX XXKXX XXXXXKXXXXXXKX XX XXX XXXXXXXXK, KXXXXXKXKXXXXXXK XXX XXXKXXXXXXXXKXXXXXXXK XX
XXX XXXXXXXXXXXXXXXKXXXX XXKXX XXXXXKXXXXX XX XXX XXXKXKXXXX.

XXXXX XXX XXXXXXX XXXXXXKXXXX XXXXXXXK XKXXX XXX XXXXXXXXKX KXXXXXXXK XXXXXXXXXXKXXX XXXXXXXX XX
XXX XXXXXXXXXXXKXX KXXXXXXXKXXXXK XXXXXXXXK XXXXXXXXXXXXXXK XXXXX XXXXXXXXXXKXXX XXX
XXXXXXXXXXX XXXXKXX XXXXXXXXX XXX XXXXXXXXXXX.

XXX XXX XX =XXXXXXXXXXKXX XXXXXK XXXX XXXXKXXXKXXXK XXXXXXKXXKXXXKXXXK XXXXXX, XX XXXXXXX XXXX XXX
XXX XXXXXXXK, XXXX XX XXX XXXXXXXXKX XXXXXKXXX XXX XXXXXXXKXXX XXXXXKX XXXKXXX XXXXXXXXXXKXX
XXX XXXXXXKXXX XXXXXK. XXXXX XXXKXXK XXXXKXK KXXXXXXXXKXK XXX XX XXX XXXXXKX XXX XXXXKXXXX
XXXXKXXKXXK, KXXXXXXXXKXKXX XXX XKXK XXXXKXKXK KXKXXXXXX XXKXXXXXXK, XK XXXXXX XXX XXX
XXXXKXXKXXXX XX XXXXX XXXXKXKXXXXX XXX XXXXXXKXK KXXXKXK XXXXXXKXXKX .

XXX XXXXXXX XXXXXKXXXX XXX KXXXXXXXXX XXXXXXXXXXXXXK XX XXXXKX XXXXK XXX XXXX XXXXXXXXXKX
XXXXKXKXXXXKXXKXK XXXX XXKX XXXXX KXXXXX XKXKX XXXX XXXXXXX. XXX XXXKXX XXXXKXXX
XXXXKXKXXXXKXXKXK XXXXK — XXXKXXXXX XXX XXXKXKXXXXXXKXKXX XX XXXXX — XXX XXXXXXKXXXX XXX
XXXXXXXXXX XXXKXX XXXXXX.

XXXXXXXXXXXXX:

XXX XXXXXXXXXXXX XXXX XXXXXXXXXXXX  XXXXXXXXXXXXXX  XXXXXXXXXXXXXX/XX
XXX XXXX

0,0 XXXXXXXXXXXXXXXX, 0,0 XXXXXXXXX, X 00 0,0 Xxxxxx XXXXX
XXXXXXX XXXXXXXXXXXX

XXXXXXXXXXX
XXXXXXXXX XXX
00.00.0000
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